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Relação do aço
ELEMENTO AÇO N DIAM Q UNIT

(cm)
C.TOTAL

(cm)
2xP4 CA60 1 5.0 50 262 13100

CA60 2 5.0 200 35 7000
CA50 3 16.0 24 368 8832

P8 CA60 1 5.0 25 252 6300
CA60 2 5.0 75 30 2250
CA50 3 12.5 6 312 1872
CA50 4 12.5 4 83 332
CA50 5 12.5 4 357 1428

2xP11 CA60 1 5.0 50 262 13100
CA60 2 5.0 150 35 5250
CA50 3 12.5 20 357 7140

3xP12 CA60 1 5.0 63 192 12096
CA60 2 5.0 63 30 1890
CA50 3 12.5 18 357 6426

2xP13 CA60 1 5.0 42 420 17640
CA60 2 5.0 210 32 6720
CA50 3 12.5 28 357 9996

P19 CA60 1 5.0 27 152 4104
CA60 2 5.0 54 30 1620
CA50 3 10.0 8 348 2784

2xP20 CA60 1 5.0 42 262 11004
CA60 2 5.0 126 35 4410
CA50 3 12.5 20 357 7140

P21 CA60 1 5.0 21 212 4452
CA60 2 5.0 42 30 1260
CA50 3 12.5 8 357 2856

2xP26 CA60 1 5.0 50 302 15100
CA60 2 5.0 200 35 7000
CA50 3 12.5 24 357 8568

P37 CA60 1 5.0 20 202 4040
CA60 2 5.0 60 30 1800
CA50 3 16.0 10 368 3680

P41 CA60 1 5.0 21 172 3612
CA60 2 5.0 42 30 1260
CA50 3 12.5 8 357 2856

P44 CA60 1 5.0 21 212 4452
CA60 2 5.0 63 30 1890
CA50 3 12.5 10 357 3570

P45 CA60 1 5.0 21 152 3192
CA60 2 5.0 21 30 630
CA50 3 12.5 2 312 624
CA50 4 12.5 16 357 5712

2xP46 CA60 1 5.0 50 162 8100
CA60 2 5.0 100 35 3500
CA50 3 16.0 20 368 7360

P48 CA60 1 5.0 21 192 4032
CA60 2 5.0 42 30 1260
CA50 3 12.5 8 357 2856

P49 CA60 1 5.0 21 192 4032
CA60 2 5.0 42 30 1260
CA50 3 12.5 10 357 3570

Resumo do aço
AÇO DIAM C.TOTAL

(m)
PESO
(kg)

CA50

CA60

10.0
12.5
16.0

5.0

27.9
649.5
198.8

1773.6

17.2
625.7
313.6
273.4

PESO TOTAL

CA50
CA60

956.5
273.4

Vol. de concreto total (C-30) = 16.93 m³
Área de forma total = 184.15 m²
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